

## GENESEE COUNTY ROAD COMMISSION

Serving the motorists of Genesee County for more than 100 years

211 W. Oakley Street Flint, MI 48503-3995 Website: www.gcrc.org

Board meetings: first and third Tuesdays at 10:00 A.M.

Phone: (810) 767-4920 Toll Free: (800) 249-4027 Fax (810) 767-5373 – Administration Fax (810) 767-3634 – Maintenance

DATE:

March 28, 2022

TO:

Superior Contracting Group

Zito Construction Co.

SUBJECT:

Bid Tabulation

Argentine Culvert Package GCRC No. W50327 & W50818

Argentine Township

Enclosed, for your information, please find the "Itemized Bid" for the project referenced above that was bid upon by your company on March 28, 2022.

Sincerely,

GENESEE COUNTY ROAD COMMISSION

Richard Hill, P.E.

Design Department Manager

Enclosure

cc:

Brian Saad – Argentine Township

EJ

AP

GG

TK

File

4

## **Bid Comparison**

Contract ID: Ar

Argentine Culv

**Description:** 

Culvert Replacement and miscellaneous items of work

Location:

Silver Lk Rd @ Hogan Drain Lahring Rd @ McCollom Drain

Projects(s):

Silver Lk Culv, Lahring Rd Culv

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$149,779.00	2.04%	0.00%
1	(07526) Superior Contracting Group L.L.C.	\$146,775.50	0.00%	-2.00%
2	(02985) Zito Construction	\$216,404.00	47.43%	44.48%

Contract # Argentine Culv (Silver Lk Rd @ Hogan Drain Lahring Rd @ McCollom Drain) MERL: 2017.9.0

Line Pay Item Code	Quantity Ur	Units	(0) ENGINEER'S ESTIMATE		(1) Superior Contracting Group L.L.C.		(2) Zito Construction	
Description	<b></b>		Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 2030003	1	Ea	\$3,000.00	\$3,000.00	\$750.00	\$750.00	\$3,000.00	\$3,000.00
Culv, Rem, Over 48 inch								
0002 2040015	1	Ea	\$5,000.00	\$5,000.00	\$510.00	\$510.00	\$6,600.00	\$6,600.00
Culv, Other than Pipe, Rem								
0003 2047011	108	Syd	\$15.00	\$1,620.00	\$19.00	\$2,052.00	\$36.00	\$3,888.00
_ Pavt, Rem, Modified								
0004 2050015	215	Cyd	\$30.00	\$6,450.00	\$18.00	\$3,870.00	\$58.00	\$12,470.00
Excavation, Channel								
0005 2080036	710	Ft	\$2.00	\$1,420.00	\$4.00	\$2,840.00	\$3.00	\$2,130.00
Erosion Control, Silt Fence								
0006 3027031	40	Ton	\$50.00	\$2,000.00	\$36.00	\$1,440.00	\$55.00	\$2,200.00
_ Aggregate Base, Modified								
0007 3067031	45	Ton	\$50.00	\$2,250.00	\$36.00	\$1,620.00	\$60.00	\$2,700.00
_ Aggregate Surface Cse, Modified								
0008 3077031	15	Ton	\$50.00	\$750.00	\$39.00	\$585.00	\$100.00	\$1,500.00
_ Shoulder, Cl II, Modified					***************************************			
0009 4010212	79	Ft	\$600.00	\$47,400.00	\$321.00	\$25,359.00	\$550.00	\$43,450.00
Culv, Cl A, CSP, 84 inch					***************************************			
0010 4010752	57	Ft	\$450.00	\$25,650.00	\$305.00	\$17,385.00	\$388.00	\$22,116.00
Culv, CSP Arch, Cl A, 71 inch by 47 in								
0011 5010030	30	Ton	\$80.00	\$2,400.00	\$314.00	\$9,420.00	\$225.00	\$6,750.00
HMA, 2C								
0012 5010031	20	Ton	\$80.00	\$1,600.00	\$534.00	\$10,680.00	\$330.00	\$6,600.00
HMA, 3C								
0013 5010032	10	Ton	\$90.00	\$900.00	\$688.00	\$6,880.00	\$440.00	\$4,400.00
HMA, 4C								
0014 8070105	100	Ft	\$25.00	\$2,500.00	\$52.80	\$5,280.00	\$66.00	\$6,600.00
Guardrail, Reconst, Type B								
0015 8100371	28	Ft	\$20.00	\$560.00	\$12.00	\$336.00	\$20.00	\$560.00
Post, Steel, 3 lb								
0016 8100405	9	Sft	\$10.00	\$90.00	\$30.00	\$270.00	\$40.00	\$360.00
Sign, Type IIIB								

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E	STIMATE	(1) Superior Contra L.L.C.	cting Group	(2) Zito Construction	
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0017 8102003	1	Ea	\$30.00	\$30.00	\$30.00	\$30.00	\$55.00	\$55.00
Sign, Type III, Rem, Salv								
0018 8102010	1	Ea	\$20.00	\$20.00	\$30.00	\$30.00	\$60.00	\$60.00
Ground Mtd Sign Support, Rem								
0019 8110231	80	Ft	\$1.00	\$80.00	\$10.00	\$800.00	\$10.00	\$800.00
Pavt Mrkg, Waterborne, 4 inch, White	е							
0020 8110232	65	Ft	\$1.00	\$65.00	\$10.00	\$650.00	\$10.00	\$650.00
Pavt Mrkg, Waterborne, 4 inch, Yello	W							
0021 8110351	1,250	Dlr	\$1.00	\$1,250.00	\$1.00	\$1,250.00	\$1.00	\$1,250.00
Witness, Log, \$1,250.00								
0022 8120012	10	Ea	\$100.00	\$1,000.00	\$85.00	\$850.00	\$135.00	\$1,350.00
Barricade, Type III, High Intensity, Do	ouble Sided,							
Lighted, Furn 0023 8120013	10	Ea	\$5.00	\$50.00	\$2.00	\$20.00	\$10.00	\$100.00
Barricade, Type III, High Intensity, Do		La	ψ0.00	Ψ00.00	Ψ2.00	Ψ20.00	Ψ10.00	Ψ100.00
Lighted, Oper			<u></u>					
0024 8120170	1	LSUM	\$11,000.00	\$11,000.00	\$10,000.00	\$10,000.00	\$27,000.00	\$27,000.00
Minor Traf Devices								
0025 8120246	16	Ft	\$2.00	\$32.00	\$10.00	\$160.00	\$4.00	\$64.00
Pavt Mrkg, Wet Reflective, Type R, T	ape, 4 inch,	Yellow,						
0026 8120350	383	Sft	\$5.00	\$1,915.00	\$4.50	\$1,723.50	\$6.00	\$2,298.00
Sign, Type B, Temp, Prismatic, Furn								
0027 8120351	383	Sft	\$1.00	\$383.00	\$2.00	\$766.00	\$3.00	\$1,149.00
Sign, Type B, Temp, Prismatic, Oper								
0028 8120352	259	Sft	\$5.00	\$1,295.00	\$7.00	\$1,813.00	\$8.00	\$2,072.00
Sign, Type B, Temp, Prismatic, Spec	, Furn					·		
0029 8120353	259	Sft	\$1.00	\$259.00	\$1.50	\$388.50	\$3.00	\$777.00
Sign, Type B, Temp, Prismatic, Spec	, Oper							
0030 8130010	370	Syd	\$65.00	\$24,050.00	\$95.00	\$35,150.00	\$130.00	\$48,100.00
Riprap, Plain		-						
0031 8167011	595	Syd	\$8.00	\$4,760.00	\$6.50	\$3,867.50	\$9.00	\$5,355.00
_ Turf Establishment, Performance-N	lo Rye, Wild	-						•
Safe, Special			I	L		I		

Contract # Argentine Culv (Silver Lk Rd @ Hogan Drain Lahring Rd @ McCollom Drain) MERL: 2017.9.0

Page 3 of 4

Line Pay Item Code  Description	Quantity Units	Bid Price	Total	L.L.C. Bid Price	Total		Total
Bid Totals:		\$149,779.00		\$146,775.50		\$216,404.00	